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pozadované ; poda,tvelna, ,
(s predsténou) toalety ostatni rekonstrukce Iliancela.rwlt(clop;/;JI uprava podlahy ve foyer
ekonomické odd.
1. podzemni podlazi 430,39 m? 27,22 m? 32,09 m? 10,30 m? - -
1. nadzemni podlazi 391,77 m? 29,30 m? 17,55 m? - 43,70 m? 258,76 m?
2. nadzemni podlazi 342,78 m? 28,96 m? 17,86 m? 57,00 m? 115,70 m? -
3. nadzemni podlazi 396,83 m? 29,87 m? 17,86 m? 58,20 m? - -
4. nadzemni podlazi 410,70 m? 29,87 m? 17,86 m? - - -
5. nadzemni podlazi 438,32 m? 58,51 m? 58,838 m? - - -
celkem 2410,79 m? 203,73 m? 162,10 m? 125,50 m? 159,40 m? 258,76 m>

celkove plochy
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